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Gdentifying SqutionsD

Choose the correct solution that best describes each inequality.

Multi-step: S1

4 4x A4 A
1) 212?+X>—14 2) 3(5x+12)<-9 or 20 < 2(6 + 4x)
a) (-o0,-6) N [9, =) b) (-6,9] a) (-o0,-3) b) [1, )
o [-6,9) d) (=0, =6) M (9, ) Q) (=o0,=3) U [1, ) d) (=0, =31 (1, o)
N
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b) (=, -5)
d) (-9,-5)
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X 2x-5 X _ X _
7) -81 =9(5x + 36) and 4x—§<22 8 1< 59 Of 5 52 3
a) (=0, -9] U (6, ) b) (-0, 6) a) (=00, 10] U [12, o0) b) (=0, =101 U (12, )
Q) (=00, =9) N [6, =) d) (e, -9] Q) (w00, =121 U [-10,20)  d) (-0, =12] U [10, o)
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